
qm=; ljBfnosf] gfd ah]6
! cd/l;+x cf=lj= d'x' @ sf]7] ejg lgdf{0f 1600000

@ n]vgfy cf=lj= s/]nLsf8f @ sf]7] ejg lgdf{0f 1600000

# /fdzfx cf=lj= jGt8L @ sf]7] ejg lgdf{0f 1600000

$ ;/:jtL df=lj= ;"F @ sf]7] ejg lgdf{0f 1600000

6400000

qm=; ljBfnosf] gfd ah]6
! df]lt/fd cf=lj= vflnjg 600000

@ k|sfz cf=lj= /+u 600000

1200000

qm=; ljBfnosf] gfd ah]6
! k[YjL gf/fo0f cf=lj= kfnu+ 400000

@ hgs cf=lj= bflugf 400000

# eujtL cf=lj= 5n 350000

$ wf}nflu/L cf=lj= /fjtjf8f 200000

% hgk|ef df=lj= lns' 500000

^ di6f cf=lj= NxfF 400000

& b]jsf]6f cf=lj= /NnL 150000

* b]p/fnL cf=lj= 7fl6 kxf8f 100000

( cf}tf/L cf=lj= zflxnfjf8f 100000

!) Hof]tL cf=lj= ?d 100000

!! kmf]S;'08f] cf=lj= vbfu+ 200000

12 aneb| cf=lj= /l; 100000

!# lqk'/fsf]6 df=lj= db' 450000

!$ lqk'/f df=lj= sfl6ofrf}/ 200000

!% lxdHof]tL cf=lj= ;fls{6f]n 100000

!^ nIdL cf=lj= /l;, 8f8fufpF 100000

!& dxf+sfn cf=lj= /l; u'Djf 100000

!* dxfb]j cf=lj= lhpF 100000

!( ;/:jtL cf=lj= ;"F 100000

20 ejfgL cf=lj= ulNn 150000

hDdf 4300000

s'n hDdf 11900000

dd{t tkm{

lzIff ef}lts k"jf{wf/ ljsf;tkm{ ljlgof]lht sfo{qmd )&^.)&&
ljBfno  ejg lgdf{0f @) yfg kmlg{r/ ;d]t

hDdf

jf; ;lxtsf] zf}rfno

hDdf


